ERRAROBEERT —I N—XBISH—F 202558178 (1) 20E=R7H

= = = = .
Bls5%3% 1B7S52  (Be) (5 58 ERE
[#&%] 17 : 8,000,000 . 27& : 3,200,000  37%& : 2,000,000 .~ 43 : 1,200,000 57 : 800,000
B FRERS /M %1 %2 17ERT 27E/ 3xEH
S1USAF 3 PoEIEES 2025/4/5 i 7 12025/3/9 5 5
ARy Bih. B2 53ER | SIERCES | 61T
11 @ #ruZ3v7 kR 0-0-0-0 ?ﬁﬁgjﬁ_L\ IJ.IU'REH%Q?Z FILAUTETBISR ERH1BIS52
B2 Oratorio(IRE) g ’ AP0y &0 s | WS e 6.0 S0 | Rl 6.0 w00
W2FL LT be—ILR 9460057 ) SIE¥:86.0 EvIFLvya | SiE#:90.8 FLY s}aza 6.3 21— UP LA
HAEYRO—F T "3 E EeARGR= 7 (2025/4/26 D 8 [2025/4/12 BB 2025/1/11 B3R
SHE(57.0 = = 4
R] FOSL—=23 A TIx—(USA) 1-0-1-5 gﬁlﬁ 1 A2 200 B _6)\ 2 2000 B 1:' M2 2200 B
7 2 ] F—72—E19> 0-0-0-0 i L ?2’5%(30%%?2%”1 . ?D%Eﬁfﬁﬂﬁﬂ Y53 3 mRB
2 N Sy -0—0 -1-1-1 35.4 2:01.5(0.3) 9-10-10-10 36.2 2:17.5(1.0) 8-8-9-11 35.9
BR] F1UXIv Tt SIS (54.0) 5162 BEAA (57.0) 51842 EEPE (57.0) 516-6
SHE#4:85.3 (Y'aAR—) SiE¥:79.9 RS h—JL SHER75.5 YA N—R
S50 3 L 2025/3/23 Ll 2024/12/28 L0 2024/12/7 LU
2‘5; ';Z.?_LK_D_ I 7.0 (=8 2% = 2000 B 1 1800 B 21 < 1800 Eq:
ol 3| 18] Baradroir yoos iﬁf‘?_‘\b > 3)%(36%0)1 %755 bo6 35.0 ﬁ?%ﬁ)ﬂﬁus 8-8-8 39.2 iﬁ%(2 ﬁ)ﬂaﬁIJ
BR] ¥V Y FtF (AUS) 0-0-0-0 = zﬁ . -6-8-6 35. ]:5 .4(0.1 -8-8- . 1:55.1(0.0 8-8-2-1 39.0
, BHER (7.0 47802 BNER (56.0) 47612 BHUER (56.0) 474418
DBEELT eIV 950.058 7 SIE¥:92.7 FRFE SHER83.5 (Yrv—FV—0) | SIEH8.8 LTSYIrY
TUVFE A FIIT i3 N2 4 2025/4/19 BB 10(2025/3/15 &Ll 12(2025/2/22 SRR
@ e SHE(57.0) [E) 1 AlZ 2600 B 6 )\‘i 2200 B 5 A‘E 2400 B
4 g} 4 ,Ri’é’;‘j,fj £ sty mRM YR IBRBA o 3 =% 3R
2 Sy~ -0~0~ - 7= :41.3(0. -9-7-7 35.6 2:15.2(1.4) 16-15-15-10 35.2 2:28.9(0.4) 13-12-13-12 34.4
8] YVRUTUZTZ(USA) Tt HILRA (56.0) 474 0 ZEE (57.0) 4740 ZEE (57.0) 4740
SHE#:86.2 (YA VINANTD) | SHE¥:70.3 Ly RNVF SiE%4:82.8 9"/ VETF v —
3 72 3B FAK 512025/4/5 4 e 7 12024/ =
9‘/};;\/1—;1;7/'%”9)””%) 6.0 sl 45250 142%™ PN
5/5| 8] 5,29%>3 0-0-00 s /902 woRiBoSR | SRS m e
Iy So e -0—0! 877 12.7(0.5 7 35.1 :02.7(0. 2-2-2-2 35.7 2:03.5(0.3] 7-6-4-5 35.6
8] FA4—F14VNT b g0 Blists (7.0 4d6h2 IRKL (57.0) ddd-4 EEER (56.0) 448 —
SER0.7 EvoFhyya | SRS (O5YAILNAY) | HE:T6.0 A—YSA NSH—
hOFO7—Rr<> [B] 3 EEBA 6 & |2025/4726 6 [2025/3/1 B 2 | 2025/2/9 =&
AT Qe SR ERBE (57.0) &) AlZ 2400 B 5 AlZ 2200 B 1 AlZ 2200 #E
© ECRERES - SR\ IESL spsss | DR e | RIS
1 Z 0o e = 7— :25.1(0. -3-3-3 34, :12.001. 442 35.7 | 2:15.7(0.4)  3-3-3-3 36.2
BR] U=~V (USA) e BlaEA (57.0) 4720 EiE (57.00 472-10 BEER (56.0) 482 0
SHE:98.9 TxILYT SER0.9 I—F 4 —FITY | 877 (AAY3HFIF)
A IRT4—S %3 B FREX 1(2025/3/22 <Ll 3 3 2024/12/21 Ll
2] BAISA D. L=2(57.0 €3] 1 Alz 2000 B 5 AlZ 2000 B 2 A‘E 1800 2
7|7 8] 32EF1—0MUS) 0-0-0-0 j(*;“;){g'lf >7 N ;joaoe'gzéﬁﬂaeﬂmz , ﬁie’é?ﬁ)ﬂiﬂﬁu PEEYY i
3 I -0-0- -7 :00.9(0. -2-2-2 36.6 2:01.2(1.0) 11-10-11-11 35.3 1:51.6(0.4) 1-1-2-2 34.0
8] Fusaichi Pegasus (USA) o0 BBEA (57.0) 4448 BBEL (57.0) 436-8 PBEA (56.0) 444 —
SIE01.9 (PR=VIARD) | SERI9.2 ST—YYaF47 | S50 Y2RS5y
IFILI0—* "3 EE FHREX 1[2025/3/1 Ll 1 (2025/1/26 Tl 2024/10/6 B
gl gl 181 ZrTonT> G L= <(§ﬁ>’r)é>$ oo 2 220 B 2 Z 1800 B 1 A‘z 2000 B
T fsied (@) FroyhIr- KA1 BT S5R EUR1BIS52 552 BB
7\ 5 -0-0— 2168(03) 11-11-3-3 34.9 1497(02) 10-8-8-8 35.9 2002(01) 4-4-4 33.5
BR] FYTHANAN Y . JUX—)L (57.0) 484 0 JUX) (57.0) 484+8 _JUX—JL (56.0) 476t4
S s Tob xSy | SGieso v oy | Skte (oA n U S
¥1-- [HEE/ER] [BF (TE) | HEERE (- B) | [RE—NIER x2-- [#BEE PRl KXl [EERE]




ERRRROBERERT —I N—RBISH—F

20256658178 (L) 200%RR7H

@ WX
L—2® L—2@ L—23 L—2®
U ot | B0 | & |
SR WIS 1B
2:12.2
1| 2135347V 55& 1 2:13.2157.0 - - -
2| YA4EYRO—F T = = - -
3| ARSI 7 - - - -
4| TUVF4TPIUT - - = -
509 /0IvA7Y 47& 1 2:12.7157.0 - - -
6| RUAIF7—bEIY = - - -
7| 9AVAT4—H - - - _
8| IF)LyO—=x = = - -
@ 591 L
ERIR2 24000 3224000 ZDfth
1 Yavs47Y 2:13.2 | B2 | 222000 | 202544858 | Pl
2| YA EYRNO—F T 2:25.4 | B | 2025%48268 | =B 2:17.5 | B | 222000 | 2025618118 | o
3| ARSI 7 2:00.0 | B3 | 20000 | 2025438238 | cpily
4| JUVYF4TPIVT 2:28.9 | B | 2025526228 2:15.2 | B | 22000 | 2025538158 | thili
519/ vAT7Y 2:12.7 | B | 222000 | 202544858 | bl
6| RIAIT7—rTV 2:25.1 | B | 2025648268 2:12.0 | B2 | 222000 | 202543818 | B
7| 9AVAT4—H 2:00.9 | 2 | 20000 | 2025439228 | il
8| IF)LyO—=x 2:16.8 | B | 222000 | 202563818 | chili
@ 5% RE/REIALA
HES %17}51 =ift 1 8
L—28 BEIAL BREIAL =
R 4 2:24.0 | 2:28.3 26 2:24.0 | 2:28.5
HE 1 2:28.3 | 2:28.3 2 2:28.2 | 2:28.3
=] 0 0
R 0 0




